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TABLE 2. Correlation coefficients (with 95% confidence intervals) between HFR radial currents and AWAC currents (Uawac..) to which the different possible contributions of
the Stokes drift were added. In the right section, Uyrr Vs Uawac.e + Ac¢; [where i = (H76, LO1, L62) for one-half of the surface Stokes drift, the weighted depth-averaged Stokes
drift and the filtered surface Stokes drift, respectively], the second line indicates the correlation coefficients that have been calculated with the approximations to the nonlinear
corrections. The best correlations for each radar station are highlighted in boldface type. The bearing offsets are given for each radar-moored current meter pair.
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0.70 = 0.04 0.79 = 0.03 0.73 = 0.04 0.71 = 0.03
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Dussol et al. (2022)
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